
MATHS

BOOKS - NCERT MATHS (HINGLISH)

CONIC SECTIONS

Short Answer

1. Find the equation of the circle which

touches the both axes in first quadrant and

whose radius is .a

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_R2sBYGyePOFl


Watch Video Solution

2. Show that the point 
 given by 


 lies on a

circle for all real values of 
 such that


 where a is any given real

number.

Watch Video Solution

(x, y)

x = and y = ( )
2at

1 + t2

1 − t2

1 + t2

t

−1 ≤ t ≤ 1,

https://dl.doubtnut.com/l/_R2sBYGyePOFl
https://dl.doubtnut.com/l/_tP8jQkLNc5Mj


3. If a circle passes through the points

 and  then find the

coordinates of its centre.

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

(0, 0), (a, 0) (0, b),

( , )
a

2
b

2

( − , − )
a

2
b

2

(a, b)

none of these

https://dl.doubtnut.com/l/_WaRmmzWCJc96


4. Find the equation of the circle which

touches the  - axis and whose
 center is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

x

(1, 2).

x2 + y2 − 2x − 4y + 1 = 0

x2 − y2 + 2x − 6y + 2 = 0

x2 − y2 + 4x − 6y + 5 = 0

none of  these

https://dl.doubtnut.com/l/_tcyujc3vvU2J


5. If the lines  and 


are tangents to a circle, then

find the radius of the
circle.

Watch Video Solution

3x − 4y + 4 = 0

6x − 8y − 7 = 0

6. Find the equation of the circle which

touches both the axes and the line


 and lies in the third

quadrant.

A. 

3x − 4y + 8 = 0

x2 + y2 − 4x − 4y + 4 = 0

https://dl.doubtnut.com/l/_rXPyfhMDVN77
https://dl.doubtnut.com/l/_0VjLQkSCIXld


B. 

C. 

D. 

Answer: B

Watch Video Solution

x2 + y2 + 4x + 4y + 4 = 0

x2 + y2 + 2x + 2y + 4 = 0

none of these

7. If one end of a diameter of the circle

 is (3, 4), then

find the coordinates of the other end of the

diameter.

x2 + y2 − 4x − 6y + 11 = 0

https://dl.doubtnut.com/l/_0VjLQkSCIXld
https://dl.doubtnut.com/l/_Kl63dCjxl40k


Watch Video Solution

8. Find the equation of the circle having


 as its centre and passing through

the intersection
of the lines  and 

Watch Video Solution

(1, − 2)

3x + y = 14

2x + 5y = 18.

9. If the line 
 touches the circle 


then find the value of 

y = √3 + k

x2 + y2 = 16, k.

https://dl.doubtnut.com/l/_Kl63dCjxl40k
https://dl.doubtnut.com/l/_VSu8zABjfxyL
https://dl.doubtnut.com/l/_t9bHikAHgDZg


Watch Video Solution

10. The equation of circle concentric with circle

 and double its

area is

Watch Video Solution

x2 + y2 − 6x + 12y + 15 = 0

11. If the latus rectum of an ellipse is equal to

the half of minor axis, then find its eccentricity.

Watch Video Solution

https://dl.doubtnut.com/l/_t9bHikAHgDZg
https://dl.doubtnut.com/l/_lrei9oxuv8GN
https://dl.doubtnut.com/l/_Pd2Cd3q2PrHc


12. Find the eccentricity coordinates of foci

length of the latus rectum of
 the following

ellipse: 

Watch Video Solution

9x2 + 2y2 = 225

13. If the eccentricity of an ellipse is 
and the

distance between its foci is 
 then find the

latusrectum of
the ellipse.

Watch Video Solution

5

8

10,

https://dl.doubtnut.com/l/_fg8KDJg6tGpe
https://dl.doubtnut.com/l/_W2mPeeUWtVbN
https://dl.doubtnut.com/l/_rHfTcJv38inM


14. Find the equation of an ellipse whose

eccentricity is , the latus
rectum is  and the

centre is at the origin.

Watch Video Solution

2

3
5

15. Filnd the distance between the directrices

the ellipse 

Watch Video Solution

+ = 1.
x2

36

y2

20

https://dl.doubtnut.com/l/_rHfTcJv38inM
https://dl.doubtnut.com/l/_9CLBUYq1f17o


16. Find the coordinates of points on the

parabola 
whose focal distance is 

Watch Video Solution

y2 = 8x 4.

17. Find the length of the line segment joining

the
 vertex of the parabola 
 and a

point on the parabola where the line
segment

make and angle 
to the - axis.

Watch Video Solution

y2 = 4ax

θ x

https://dl.doubtnut.com/l/_DEHisRq4Yw8G
https://dl.doubtnut.com/l/_T0qv8nez102h
https://dl.doubtnut.com/l/_S0mQDnAfUSJf


18. If the points 
 are

respectively the vertex and focus of a

parabola,
 then find the equation of the

parabola.

Watch Video Solution

(0, 4)and(0, 2)

19. If the line 
 is tangent to the

parabola 
then find the value of .

Watch Video Solution

y = mx + 1

y2 = 4x, m

https://dl.doubtnut.com/l/_S0mQDnAfUSJf
https://dl.doubtnut.com/l/_qShvmsXDsrz4
https://dl.doubtnut.com/l/_f5oI2YHOHg7Q


20. If the distance between the foci of a

hyperbola is
 
and its eccentricity is 
, then

obtain its equation.

Watch Video Solution

16 √2

21. Find the eccentricity of the hyperbola

Watch Video Solution

9y2 − 4x2 = 36

https://dl.doubtnut.com/l/_f5oI2YHOHg7Q
https://dl.doubtnut.com/l/_WT76U3yWWHla


Long Answer

22. Equation of the hyperbola with eccentricity

 and foci at  is

Watch Video Solution

3

2
( ± 2, 0)

1. If the lines  and 

are the diameters of a circle of area 

square units, then obtain the equation of the

circle.

2x − 3y = 5 3x − 4y = 7

154

https://dl.doubtnut.com/l/_oBrEkNUq6GL9
https://dl.doubtnut.com/l/_z7bffg8GbtH1


Watch Video Solution

2. Find the equation of the circle which passes

through the points 
 and the

centre lies on the straight line

Watch Video Solution

(2, 3), (4, 2)

y − 4x + 3 = 0.

3. Find the equation of the circle whose centre

is at
 
 and which cuts off a chord of

length 
on the line 

(3, − 1)

6units 2x − 5y + 18 = 0.

https://dl.doubtnut.com/l/_z7bffg8GbtH1
https://dl.doubtnut.com/l/_5JR3Wt2g6yjc
https://dl.doubtnut.com/l/_GjzUZgijwekx


Watch Video Solution

4. Find the equation of the circle whose radius

is 
 which touches the circle 


externally at the

point 

Watch Video Solution

5and

x2 + y2 − 2x − 4y − 20 = 0

(5, 5).

5. Find the equation of the circle passing

through the point  having radius  units(7, 3) 3

https://dl.doubtnut.com/l/_GjzUZgijwekx
https://dl.doubtnut.com/l/_I5uiIGrRI6wD
https://dl.doubtnut.com/l/_ymSi7j59dHKI


and whose centre lies on the line 

Watch Video Solution

y = x − 1

6. Find the equation of each of the following

parabola

focus at  directrix 

Watch Video Solution

( − 1, 2) x − 2y + 3 = 0

7. Find the equation of the set of all points the

sum
 of whose distance from the points

https://dl.doubtnut.com/l/_ymSi7j59dHKI
https://dl.doubtnut.com/l/_jr7cHRkpUzAX
https://dl.doubtnut.com/l/_7RIgxOXv919E



is 

Watch Video Solution

(3, 0)and(9, 0) 12.

8. Find the equation of the set of all points

whose
 distances from 
 of their

distances from the line 

Watch Video Solution

(0, 4)are
2

3

y = 9.

9. Show that the set all points such that the

difference of their distances from

https://dl.doubtnut.com/l/_7RIgxOXv919E
https://dl.doubtnut.com/l/_YRjCf4qV9SHT
https://dl.doubtnut.com/l/_gSfTaSySlqyL


True False


 is always equal to 

represents a hyperbola.

Watch Video Solution

(4, 0)and( − 4, 0) 2

10. Find the equation of the hyperbola with 

vertices (  5,0), foci (  7,0).

Watch Video Solution

± ±

https://dl.doubtnut.com/l/_gSfTaSySlqyL
https://dl.doubtnut.com/l/_sXD8QsNRZDvI


1. The line x+3y=0 is a diameter of the circle

Watch Video Solution

x2 + y2 + 6x + 2y = 0

2. . The shortest distance from the point (2, -7)

to circle 

Watch Video Solution

x2 + y2 − 14x − 10y − 151 = 0

https://dl.doubtnut.com/l/_Hnl6yfeS5mqy
https://dl.doubtnut.com/l/_1UvmOTfG5T0c


3. If the line 
 touches the

circle 
 , then prove that 

lies on a circle.

Watch Video Solution

lx + my − 1 = 0

x2 + y2 = a2 (l, m)

4. The point (1,2) lies inside the circle

.

Watch Video Solution

x2 + y2 − 2x + 6y + 1 = 0

https://dl.doubtnut.com/l/_gNy19aRhratq
https://dl.doubtnut.com/l/_KpVc1bewKu3G


5. If the line 
 touches the

parabola 
prove that 

Watch Video Solution

lx + my + n = 0

y2 = 4ax, ln = am2

6. If P is a point on the ellipse 

whose foci are  and , then 

Watch Video Solution

+ = 1
x2

16

y2

25

S S'

PS + PS' = 8.

https://dl.doubtnut.com/l/_R93UQ2tk2AJH
https://dl.doubtnut.com/l/_fR7FHjSLjjPr


7. The line 2x+3y=12 touches the ellipse

 at the points (3,2).

Watch Video Solution

+ = 2
x2

9

y2

4

8. The locus of the point of intersection of

lines =0 and 

 for different value of k

is a hyperbola whose eccentricity is 2.

Watch Video Solution

√3x − y − 4√3k

√3kx + ky − 4√3 = 0

https://dl.doubtnut.com/l/_s140VLXWf8Vu
https://dl.doubtnut.com/l/_NHm3kcOYbOrw


Fillers

1. Find the equation of the circle having centre

at 
 and touching the line 

Watch Video Solution

(3, − 4)

5x + 12y − 12 = 0.

2. Find the equation of the circle which

circumscribes the triangle formed
 by the line:

Watch Video Solution

  y = x + 2, 3y = 4x and 2y = 3x

https://dl.doubtnut.com/l/_b06S3GWJM6rX
https://dl.doubtnut.com/l/_GdSWuloDHllm


3. An ellipse is described by using an endless

string which is passed over two pins. If the

axes are  and , the length of the

string and distance between the pins are .........

Watch Video Solution

6cm 4cm

4. The equation of the ellipse having foci

 and minor axis of length  is

……

(1, 0), (0, − 1) 1

https://dl.doubtnut.com/l/_GdSWuloDHllm
https://dl.doubtnut.com/l/_YtkvIpVO8hiS
https://dl.doubtnut.com/l/_4KT27A9qgTWo


Watch Video Solution

5. Find the equation of the parabola whose

focus is at  and the
 directrix the

line 

Watch Video Solution

( − 1, − 2)

x − 2y + 3 = 0

6. The equation of the hyperbola with vertices

at  and eccentricity  is….. And its

foci are …….

(0, ± 6)
5

3

https://dl.doubtnut.com/l/_4KT27A9qgTWo
https://dl.doubtnut.com/l/_qo4sRkNBWWWa
https://dl.doubtnut.com/l/_pNIgxhIgjjYN


Objective Type

Watch Video Solution

1. The area of the circle centred at  and

passing through  is

A. 

B. 

C. 

D. none of these

(1, 2)

(4, 6)

5π

10π

25π

https://dl.doubtnut.com/l/_pNIgxhIgjjYN
https://dl.doubtnut.com/l/_9BH5VZQNtPk8


Answer: C

Watch Video Solution

2. Equation of a circle which passes through

 and touches the axes is

A. 

B. 

C. 

D. 

(3, 6)

x2 + y2 + 6x + 6y + 3 = 0

x2 + y2 − 6x − 6y − 9 = 0

x2 + y2 − 6x − 6y + 9 = 0

none of these

https://dl.doubtnut.com/l/_9BH5VZQNtPk8
https://dl.doubtnut.com/l/_O4lgy6vzmy9e


Answer: C

Watch Video Solution

3. Equation of the circle with centre on the -

axis and passing through the origin and 

is

A. 

B. 

C. 

D. 

y

(2, 3)

x2 + y2 + 13y = 0

3x2 + 3y2 + 13x + 3 = 0

6x2 + 6y2 − 13y = 0

x2 + y2 + 13x + 3 = 0

https://dl.doubtnut.com/l/_O4lgy6vzmy9e
https://dl.doubtnut.com/l/_msTwDLv3kQR3


Answer: C

Watch Video Solution

4. Find the equation of a circle with origin as

centre and which circumscribes equilateral

triangle whose median of length 

A. 

B. 

C. 

D. 

3a

x2 + y2 = 9a2

x2 + y2 = 16a2

x2 + y2 = 4a2

x2 + y2 = a2

https://dl.doubtnut.com/l/_msTwDLv3kQR3
https://dl.doubtnut.com/l/_LPoUPzpR8lTs


Answer: C

Watch Video Solution

5. If the focus of a parabola is  and its

directrix is  then its equation is

A. 

B. 

C. 

D. 

(0, − 3)

y = 3,

x2 = − 12y

x2 = 12y

y2 = − 12x

y2 = 12x

https://dl.doubtnut.com/l/_LPoUPzpR8lTs
https://dl.doubtnut.com/l/_k0RatTb7Uzo7


Answer: A

Watch Video Solution

6. If the parabola 
 passes through

the point  then find the length of its

latus
rectum.

A. 

B. 

C. 

D. 

y2 = 4ax

(3, 2)

2

3

4
3

1

3

4

https://dl.doubtnut.com/l/_k0RatTb7Uzo7
https://dl.doubtnut.com/l/_tvNfiKH4KtSp


Answer: B

Watch Video Solution

7. If the vertex of a parabola is the point

 and the directrix is the line 

, then find its equation.

A. 

B. 

C. 

D. 

( − 3, 0)

x + 5 = 0

y2 = 8(x + 3)

x2 = 8(y + 3)

y2 = − 8(x + 3)

y2 = 8(x + 5)

https://dl.doubtnut.com/l/_tvNfiKH4KtSp
https://dl.doubtnut.com/l/_dtyGfF7wpXPq


Answer: A

Watch Video Solution

8. If question of the ellipse whose focus is

 then directrix the line 

 and eccentricity  is

A. 

B. 

C. 

D. 

(1, − 1),

x − y − 3 = 0
1

2

7x2 + 2xy + 7y2 − 10x + 10y + 7 = 0

7x2 + 2xy + 7y2 + 7 = 0

7x2 + 2xy + 7y2 + 10x − 10y − 7 = 0

none of these

https://dl.doubtnut.com/l/_dtyGfF7wpXPq
https://dl.doubtnut.com/l/_iqqBp34MfUIB


Answer: A

Watch Video Solution

9. The length of the latusrectum of the ellipse

 is

A. 

B. 

C. 

D. 

3x2 + y2 = 12

4

3

8

4

√3

https://dl.doubtnut.com/l/_iqqBp34MfUIB
https://dl.doubtnut.com/l/_HABPWjdZWHnt


Answer: D

Watch Video Solution

10. If e is eccentricity of the ellipse

(where,a b), then

A. 

B. 

C. 

D. 

+ = 1
x2

a2

y2

b2
<

b2 = a2(1 − e2)

a2 = b2(1 − e2)

a2 = b2(e2 − 1)

b2 = a2(e2 − 1)

https://dl.doubtnut.com/l/_HABPWjdZWHnt
https://dl.doubtnut.com/l/_V78wtEAjWyTG


Answer: B

Watch Video Solution

11. The eccentricity of the hyperbola whose

length of the latus rectum is
 equal to 8 and

the length of its conjugate axis is equal to half

of the
distance between its foci, is :

A. 

B. 

C. 

4
3

4

√3

2

√3

https://dl.doubtnut.com/l/_V78wtEAjWyTG
https://dl.doubtnut.com/l/_Ga2xt1vY5MRY


D. none of these

Answer: C

Watch Video Solution

12. The distance between the foci of a

hyperbola is 16 and its eccentricity is 
 then

equation of the hyperbola is

A. 

B. 

√2

x2 − y2 = 32

− = 1
x2

4

y2

9

https://dl.doubtnut.com/l/_Ga2xt1vY5MRY
https://dl.doubtnut.com/l/_FNP14Jt5759h


C. 

D. none of these

Answer: A

Watch Video Solution

2x − 3y2 = 7

13. Equation of the hyperbola with eccentricity

 and foci at  is

A. 

B. 

3

2
( ± 2, 0)

− =
x2

4

y2

5
4
9

− =
x2

4

y2

9
4
9

https://dl.doubtnut.com/l/_FNP14Jt5759h
https://dl.doubtnut.com/l/_oZzxC3vEOFmb


C. 

D. none of these

Answer: A

Watch Video Solution

− = 1
x2

4

y2

9

https://dl.doubtnut.com/l/_oZzxC3vEOFmb

